
Change	
  to	
  a	
  mixed	
  number.	
  
45
7 	
  
	
  
	
  

87
20	
  

28
3 	
  

99
12	
  
	
  

Change	
  to	
  an	
  improper	
  fraction.	
  

5
6
7	
  

	
  
2
4
9	
  

1
6
7	
  

	
  
3
12
17	
  

Add	
  or	
  subtract.	
  	
  Simplify	
  if	
  possible.	
  
7
12+

11
12	
  

	
  
	
  
	
  

29
30−

23
30	
  

5
7+

3
4	
  

	
  
	
  
	
  
	
  

13
15−

4
5	
  

2
3
5+ 7

1
2	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

5
1
3− 3

4
5	
  

6
7
8+ 3

5
6	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

12
3
7−

8
9	
  



Multiply.	
  	
  Simplify	
  if	
  possible.	
  
4
7×

3
8	
  

	
  
	
  
	
  

7
9×5	
  

1
2
3×2

3
4	
  

	
  
	
  
	
  

4×
5
12	
  

The	
  length	
  of	
  a	
  rectangular	
  garage	
  is	
  7 !
!
yards	
  and	
  the	
  width	
  is	
  4 !

!
yards.	
  	
  What	
  is	
  the	
  

area	
  of	
  the	
  garage?	
  
	
  
	
  
	
  
	
  
	
  
	
  
Larry	
  had	
  !

!
of	
  a	
  pizza	
  pie	
  left	
  from	
  last	
  night.	
  	
  He	
  decided	
  to	
  eat	
  !

!
of	
  the	
  leftover	
  pizza.	
  	
  

How	
  much	
  did	
  he	
  eat?	
  	
  How	
  much	
  is	
  left	
  over	
  for	
  the	
  next	
  day?	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Armando	
  weighs	
  75 !

!
	
  pounds.	
  	
  He	
  wants	
  to	
  lose	
  2 !

!
pounds.	
  	
  What	
  will	
  be	
  his	
  new	
  

weight?	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  


